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| GENERAL INSTRUCTIONS TO THE EXAMINEES :
| (1) Qﬂemvffaﬁsrwm;m—q’ﬂmmaqﬁmﬁa o |

Candidates must write first his / I'Ler RoWﬁ question paper compulsorily.
2) aftyem arfEmd 2 1@?%"‘ o

All the questions are compulsory.

) e I T TR O TS Ier-fent 4 € ford |

-

Write the answer to each question in the given answer sheet only.

(4) o gt 3 3T @S &, 39 Tt 3 gew ue wr @ e |

T e S

For questions having more than one part, the answers to those parts are to be written

together in continuity.

N S =

(5) mwmmﬁﬁuﬁmmmw%@t

Write down the serial number of the question before attempting it.
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T 1S S A |
If there is any kind of error / difference / contradiction in the Hindi & English
versions of the question paper, the question of Hindi version should be treated valid

Weightage of marks for the question is as follows :
it TARTSH | IS | gorm By

GUg-3H (A) | 1(itox),2to11=20 T [ T =—
U7 (B) 12t019=38 i‘{“i‘“‘“ﬂ—-

S HE) 20t023=4 —%T*““ i:
wue-3 (D) 241025=2 00 5 T ——
WE-AE) | 26102825 ; +

b, 2
iy ——— |

(8) T SFHieh 20 & 28 T forea l%&ﬁ@ﬁmqﬁm%
|

Question Nos. 20 to 28 have the internal option. A :
. ttempt an
Y one option
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SECTION - A

|, g faeedt ye
Multiple Choice Questions :
) i < e gt aftre e arern vl

(31) wew femy (1) wwte
(®) 1., Hgal - (3) BeerE
Welfare definition of economics was given by the economist
(A) Adam Smith - (B) Marshall
(C) J.K.Mehta (D) Samuelson 1
(i) TATTIS SRGAT T T 956 BT 2
(31) g (¥) ZHOMHS
(\) & (5) wwead
The demand curve of substitute goods is
(A) Positive (B) Negative.a/f
(C) Horizontal _%(& m%%ﬁ 1
(iii) afe et i hma A 20%%&%% 20 wferra fireft 2, @t shet <t =i 6
‘ S \ g c
< gt
() @ (§) T o | 3TfHh
() geprd wirel o T (7) oS I & W
If there is 20% rise in the price of banana and the demand is decreased by 20% , then
the elasticity of demand will be
(A) Zero elastic (B) More than unitary elastic
(C) Unitary elastic (D) Less than unitary elastic 1
(iv) T forg e et SeTe Fifererem Bran 2, i IeaTg B
(31) I (/) I
(|) Th (]) tfereham
The point where total product is maximum, marginal product will be
(A) Infinite (B) Zero
(C) One (D) Maximum 1
[ Turn over
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(v) ST AT B fasr 2
(37) e o faskan (9) wHEY e
(@) foshanat it sreafirs e (8) hrma gfggm
The feature of oligopoly market is 7

(A) Only one seller (B) Homogenous production

(C) Large number of sellers (D) Price rigidity

(vi) WISl % ol 3ETET 8

(37) HisTger (@) ehfeem
(&) (®) &
The example of intermediate goods is
(A) Mobile (B) 7'?"l:lélevisi0n
(C) Flour (D) Bread
(vif) T % T g e A b s 3
(37) 3 st s O TR ey
(@) whgsoneh () (@) s yoref
Exchange of goods for goods is known as
(A) Monetary system (B) Barter system
(C) Cashsystem (D) Modery System
(viil) 391 T Fefte e 2
(31) W e () et gy
(@) R e oo (8) e

The Central Bank of the country is

(A)" Punjab National Bank B) State Bayy ¢,
ndia

(C) Reserve Bank of India (D) NABARp,

95-]0-1*300"»




(ix) == <! =T g & 9 8

AY _AC

(31) MPS =" () MPS= /g
| AY

(@) MPS= 23 (8) MPS="—

The formula for marginal propensity to save is

AY _AC
(A) MPS="¢ (B) MPS = o
AS _AY
(C) MPS="% (D) MPS=7+~ : 1

(x) fERiaEThAEe:

(31) HIAF

“L

(@) fraet frdeh = @5

Which of the following is the item of revenue receipt ?

(A) Tax revenue (B) Net domestic loans
(C) Net foreign loan (D) Loan repayment 1
0. T I3 oh1 U IETE ST |
Give one example of complementary goods. 1

3. Icared o Wiy AT 1AM ferfe |
Write the name of acfive factor of production. 1
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4.  HHT=q emTd S T R g fefa |

Write the formula to calculate marginal cost.

5. TSR fFaFad e ?

What is a local market ?

6. %ﬁaﬁa@wmmmﬁwg@ﬁﬁw%?

Which market’s main feature is product differentiation ?

7. 3T % TERThR VA8 Hiset hi Uk 3Tmavas vd fafiaw |
Write one necessary condition of circular flow of income mode].

8. T ol Rty Fifs |

Define money.

9. %%m?lo,ooo%m%aﬁtcmzo%%eﬁmm o

A bank has a deposit of ¥ 10,000 and CRR is 20%, then credit multip}; il
€r wi be

—_—

10.  HI= % FATER ITHRT T IgE &9 T IS T R |

According to Keynes, plays an important role in inﬂuencing th
€ consumption,

(], HOCASE=FAAE=__

Balanced budget = Total revenue =
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13.

14,

15

T6.

17.

18.

19.

7
glg—-¢
SECTION -B

i 1 i e a2 et 1 v R |

Mention any two factors determining demand.

T % R % QY 31eTe AT |

Give two exceptions to the law of demand.

T T e TSR H 37 T HIR |

Explain the difference between retail and wholesale market.

T & ehierenTe 6 foheel Q) &l 1 Jeoig hifdr | -

Mention any two sectors of mono Ql%ﬁ,ﬁiéﬁ' ﬁy@%‘%

i L -
oFtiv
3T T kT S8 1 LG SHTST |

Draw a diagram of circular flow of Income.

TP 3 o bt fehe &l SRS < A S |

Name any two difficulties in measurement of National Income.

g farfera yorett <1 S & hieTEal GaTST |

Suggest any two difficulties of barter system.

3t Py R #ed 3 7

What is induced investment 2
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SECTION -C

20. “arefumE fag= 8 1° 39 YA % et U 3 deh S |

‘Economics is a Science.” Give two arguments in favour of this statement.

T/ OR
<37efSTTET el 2 | 58 YA % U& 3 <) e i |

‘Economics is an art.” Give two arguments in favour of this statement.

21. i = gurferd s 9101 @ Al I HUSTSC |
Explain two factors affecting supply.
3ET/OR
gfd % Forer <At fpameficrar 3 &t roT w1 gwemsT |

Explain two reasons for operation of the law of supply.

22. ﬁmmﬁamﬁaﬁHaW(AR)aﬁrmﬁm:

T T | e
Ea HATH IHH
IS (TR) . (AR)
1 ‘ 8% e
2 16 | ...
-
3 “ 28 | e eses
4 32 N semen e
Calculate average revenue in the given table :
Units Total Average
of Revenue Revenue
Goods (TR) (AR)
1 8 )l sssessees
[ 2 16 | ...
{ 3 . S Ty
[ 4 3Z | s
IYET/OR
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T anferert o v 3 <6 o il

k3
FH

(TR)

10

---------

20

.........

a4
£
R
|
2
3

30°

---------

4

40

.........

Calculate marginal revenue in the given table :

Units
of
Goods

Total
Revenue

(TR)

‘Marginal
Revenue (MR)

24,

10 N el |

20 ooooooooo

Explain the average propensity to save with formula.

3Er/OR
e <) e S i G SRS |

Explain the marginal propensity to save with formula.

e -3
" SECTION-D

& ey i mmmﬁﬁﬁﬁﬁrﬁﬁg%aﬁ(ﬁ P EARRT |
1A, hich method is better for measuring National Income and why ? Explain. 5
w, will

In your vie JOR

sy ahu Wm@mﬁ%mﬁwm%aml
?{f@ ’ hat is the relationship between National Income and Economic Welfare ?
In your view, W

Explain.
| Tqrn over
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25, T ST i IR Ud S i 6 i T 91 g ewts |

Show the items of receipts and expenditures of revenue budget with a chart. 5

AYET/OR
i e <61 SRR e o B ) o T g e |

Show the items of receipts and expenditures of capital budget with a chart.

o~

Tig -9
SECTION -E

26. T et SiHd o= St AT shi iR f&afe st quems |
Explain the percentage method of measuring price elasticity of demand. 6

~ J¥ET/OR
ﬁnﬁsﬁﬂaﬁaﬁmﬁﬁwﬁ%%ﬁlﬁmﬁﬂ

Explain the Geometric method of measurin'g;pi-icc elasticity of demand.
a1/ OR

Explain the total expenditure method of measuring price elasticity of demand.

il

qfet 3 fere wa W= <t T@TterE S wErar § qussy |

27.
Explain expansion and contraction of supply with the help of a diagram. ~ 6

FAYET/OR
ofef # gfg va et <Rt Tl A HETe § wHeee |
Explain increase and decrease of supply with the help of a diagram.
3YET/OR
gt e e e e @ e

Explain market supply with the help of schedule and diagram,
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28. T Tohedl ©: I Bl o AT |

Describe any six functions of money.
a19ET/OR

| m%%w?ﬁﬁﬁlﬁwﬁwﬁaﬁqﬁ@%

| r!

| Describe any three functions of CmpmercralfBank in detail.

il w/OR ¢

Wﬁ%w?ﬁqmﬁwmﬁaﬁq@ﬁm

Describe any three functions of Central Bank in detail.
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